(D Case (raze

T.J. Rockinstein and his friends saw a sale on CD carrying
cases. Each case costs five dollars and holds nine CDs. Help
T.J. Rockinstein and his friends figure out how many cases each
one needs to buy. Write the division problem each one needs to

solve, and then write the answer.
I have 63
CDs at home.

Terri needs cases.

I have 14 at home
and 13 in my car.
Sold+13is...

Alan needs cases.

I have 72 CDs
in my car.
T.J. needs ____ cases.

I have 38 at home,
14 in my locker,
and 2 in my car.

J.J. needs _ cases.

I just bought 2
to add to my 34
at home.

{

BONUS: How much did each person have to pay for their cases?
Terri $ Alan $ TJ. $ J.J. § Toby $
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Toby needs _ cases.




